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MISSION IBPS CLERK-2023 (TARGET BATCH)

“right person working hard” is codded
as ““le ma re nu”

“Always ask right questions’ is codded
as ‘“‘tu ma ge po”’

“Just ask for everyone” is coded as ‘“‘bw
de po vo”

‘““everyone is working hard” is coded as
“bw ak le nu”

What is the code for “right’”?
Ol.nu

02. ma

03.de

04. bw

05. ak



MISSION IBPS CLERK-2023 (TARGET BATCH)

“right person working hard” is codded as
“le ma re nu”

“Always ask right questions” is codded as
““tu ma ge po”’

“Just ask for everyone” is coded as “bw
de po vo”

‘““everyone is working hard” is coded as
“bw ak le nu”

If ““always fight for right” is coded as ‘“‘ge
hy vo ma’” then what is the code for “just
question’?

Ol.tude

02.vo tu

03.ge vo

04.re de

05. ma ge




MISSION IBPS CLERK-2023 (TARGET BATCH)

“right person working hard” is codded
as ““le ma re nu”

“Always ask right questions” is codded
as ‘““‘tu ma ge po”’

“Just ask for everyone” is coded as “bw
de po vo”

‘““everyone is working hard” is coded as
“bw ak le nu”

What is the code for ‘‘is’’?
0l.ak
02.vo
03.nu
04.de
05.le



MISSION IBPS CLERK-2023 (TARGET BATCH)

“right person working hard” is codded
as ““le ma re nu”

“Always ask right questions” is codded
as ‘““‘tu ma ge po”’

“Just ask for everyone” is coded as “bw
de po vo”

‘““everyone is working hard” is coded as
“bw ak le nu”

The code “re” stands for which word?
0l1. always

02. questions

03. person

04. just

05. for



MISSION IBPS CLERK-2023 (TARGET BATCH)

“right person working hard” is codded
as ““le ma re nu”

“Always ask right questions’ is codded
as ‘“‘tu ma ge po”’

“Just ask for everyone” is coded as ‘“‘bw
de po vo”

‘““everyone is working hard” is coded as
“bw ak le nu”

What is the code for “hard working’?
Ol.le ma

02.de nu

03.nule

04. bw ak

05. ge tu



@ MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven persons are sitting around a triangular
table from A to G with equal distance on each
side.Two people are sitting on two sides and
three people are sitting on one side.All the
people are facing towards the centre. G,A and
E are on the same side. D is to the immediate
left of G and C is to the immediate right of E.
F is not near to D.
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven persons are sitting around a triangular
table from A to G with equal distance on each
side.Two people are sitting on two sides and
three people are sitting on one side.All the
people are facing towards the centre. G,A and
E are on the same side. D is to the immediate
left of G and C is to the immediate right of E.
F is not near to D.

Who sits to the immediate left of E?

01.A
02.B
03.C
04.D
05.G



MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven persons are sitting around a triangular
table from A to G with equal distance on each
side.Two people are sitting on two sides and
three people are sitting on one side.All the
people are facing towards the centre. G,A and
E are on the same side. D is to the immediate
left of G and C is to the immediate right of E.
F is not near to D.

How many people sit between A and Fwhen
counted from the left of A?

01.0ne

02.Two

03.Three

04. Four

05. None of these



MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven persons are sitting around a triangular
table from A to G with equal distance on each
side.Two people are sitting on two sides and
three people are sitting on one side.All the
people are facing towards the centre. G,A and
E are on the same side. D is to the immediate
left of G and C is to the immediate right of E.
F is not near to D.

If all the people are arranged alphabetical
order from A in clockwise direction then the
position of how many people are unchanged?

0l.One
02.Two
03.Three
04. None
05. Four



MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven persons are sitting around a triangular
table from A to G with equal distance on each
side.Two people are sitting on two sides and
three people are sitting on one side.All the
people are facing towards the centre. G,A and
E are on the same side. D is to the immediate
left of G and C is to the immediate right of E.
F is not near to D.

Four of the following five are alike in a certain
way and hence form a group.Which one of the
following does not belong to the group?

OI.BF
02.CE
03.DB
04.A G
05.AE



@ MISSION IBPS CLERK-2023 (TARGET BATCH)

Eight people H,F,D, K, R,T,M and S are sitting
in a row and facing towards the north
direction.There are three people between R
and D. D is third from the right end of the row.
T is second to the right of K and is not near to
D. M is at the extreme end of the row. S is not

near to D. F is second to the rlght of H.
33, H,F,D,K,R,T,M swtr%rfr
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Eight people H,F,D, K, R,T,M and S are sitting
in a row and facing towards the north
direction.There are three people between R
and D. D is third from the right end of the row.
T is second to the right of K and is not near to
D. M is at the extreme end of the row. S is not
near to D. F is second to the right of H.

Who sits to the extreme left end of the row?

OI.M
02.K
03.H
04.D
05.T



MISSION IBPS CLERK-2023 (TARGET BATCH)

Eight people H,F,D, K, R,T,M and S are sitting
in a row and facing towards the north
direction.There are three people between R
and D. D is third from the right end of the row.
T is second to the right of K and is not near to
D. M is at the extreme end of the row. S is not
near to D. F is second to the right of H.

Who sits fourth to the left of F?

0I.T
02.K
03.R
04.S
05.H



MISSION IBPS CLERK-2023 (TARGET BATCH)

Eight people H,F,D, K, R,T,M and S are sitting
in a row and facing towards the north
direction.There are three people between R
and D. D is third from the right end of the row.
T is second to the right of K and is not near to
D. M is at the extreme end of the row. S is not
near to D. F is second to the right of H.

How many people sit between H and R?

01.0ne
02.Two
03.Three
04. Four
05. None



MISSION IBPS CLERK-2023 (TARGET BATCH)

Eight people H,F,D, K, R,T,M and S are sitting
in a row and facing towards the north
direction.There are three people between R
and D. D is third from the right end of the row.
T is second to the right of K and is not near to
D. M is at the extreme end of the row. S is not
near to D. F is second to the right of H.

How many people sit to the right of T?

O0l.Five
02. Six
03. Four
04. Seven
05. None



MISSION IBPS CLERK-2023 (TARGET BATCH)

Point D is |12 km west of Point G which is 5 km
south of Point K. Point L is 4 kmm North of
Point K. Point D is IO km east of Point S

?%T?ﬁﬁ%%mﬁg %2% 10 ﬁg ﬁﬁ%’

What is the minimum dlstance between D
and K?

01.13 km
02. 14 km
03.15 km
04.9 km
05.10 km



MISSION IBPS CLERK-2023 (TARGET BATCH)

Point D is |12 km west of Point G which is 5 km
south of Point K. Point L is 4 kmm North of
Point K. Point D is IO km east of Point S

?%T?ﬁﬁz&mﬁg %2% 10 ﬁg ﬁﬁ%"'

Point S is in which direction from the point L?

0l. Northwest
02. Southeast

03. Southwest
04. North

05. East



MISSION IBPS CLERK-2023 (TARGET BATCH)

Statements:

A=B>C>D=E>F>G<H>]
Conclusions:

I.LH>D
INEXe®

0l. If only conclusion |l is true.
02. If only conclusion Il is true.
03. If either conclusion | or Il is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and Il are true.



MISSION IBPS CLERK-2023 (TARGET BATCH)

Statements:

D>R>E<B;S=M=F>D;G=>B
Conclusions:

I.D>E
II.G<E

0l. If only conclusion |l is true.
02. If only conclusion Il is true.
03. If either conclusion | or Il is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and Il are true.



MISSION IBPS CLERK-2023 (TARGET BATCH)

Statements:

4=2>3>5>]=9<7
Conclusions:

1.3>9
11.4>9

0l. If only conclusion I is true.
02. If only conclusion Il is true.
03. If either conclusion | or Il is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and Il are true.



MISSION IBPS CLERK-2023 (TARGET BATCH)

Statements:

E>V>2Y<T=K<U=M
Conclusions:

LV=K
ILK>V

0l. If only conclusion |l is true.
02. If only conclusion Il is true.
03. If either conclusion | or Il is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and Il are true.



MISSION IBPS CLERK-2023 (TARGET BATCH)

Statements:

N> T>G>E>R<W<U
Conclusions:

. T>W
ILU>R

0l. If only conclusion |l is true.
02. If only conclusion Il is true.
03. If either conclusion | or Il is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and Il are true.



@ MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven people G to M live in a building of seven floors but not
necessarily in the same order.The ground floor is numbered I,
the floor above it is numbered 2 and so on, and the topmost
floor is numbered 7. M does not live on even numbered floors
and | does not live on odd numbered floors. More than two
people live above the floor of . The number of floors between |
and M is the same as the between | and K. G lives on the fifth
ﬂoor The floor of K is above the floor of G. Ilves on an odd
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven people G to M live in a building of seven floors
but not necessarily in the same order.The ground
floor is numbered |, the floor above it is numbered 2
and so on, and the topmost floor is numbered 7. M
does not live on even numbered floors and | does
not live on odd numbered floors. More than two
people live above the floor of . The number of floors
between | and M is the same as the between | and K.
G lives on the fifth floor.The floor of K is above the
floor of G. ] lives on an odd numbered floor and L
lives above the floor of H.

Who lives on the third floor?

01.M
YRY
03.]

04.G
05.K



MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven people G to M live in a building of seven floors
but not necessarily in the same order.The ground
floor is numbered |, the floor above it is numbered 2
and so on, and the topmost floor is numbered 7. M
does not live on even numbered floors and | does
not live on odd numbered floors. More than two
people live above the floor of . The number of floors
between | and M is the same as the between | and K.
G lives on the fifth floor.The floor of K is above the
floor of G. ] lives on an odd numbered floor and L
lives above the floor of H.

If ] interchanges his floor with L then who lives
immediately below J ?

01.G

02.1

03.H

04.K

05. None of these




MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven people G to M live in a building of seven floors
but not necessarily in the same order.The ground
floor is numbered |, the floor above it is numbered 2
and so on, and the topmost floor is numbered 7. M
does not live on even numbered floors and | does
not live on odd numbered floors. More than two
people live above the floor of . The number of floors
between | and M is the same as the between | and K.
G lives on the fifth floor.The floor of K is above the
floor of G. ] lives on an odd numbered floor and L
lives above the floor of H.

Who lives on the topmost floor?

OI.L

02.H

03.G

04.M

05.K




MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven people G to M live in a building of seven floors
but not necessarily in the same order.The ground floor
is numbered |, the floor above it is numbered 2 and so
on, and the topmost floor is numbered 7. M does not
live on even numbered floors and | does not live on
odd numbered floors. More than two people live above
the floor of I.The number of floors between | and M is
the same as the between | and K. G lives on the fifth
floor.The floor of K is above the floor of G. ] lives on an
odd numbered floor and L lives above the floor of H.
Four of the following five are alike in a certain way and
hence form a group.Which one of the following does
not belong to the group?

01.KI

02. Ml

03.GH

04. )L

05.1G




MISSION IBPS CLERK-2023 (TARGET BATCH)

Seven people G to M live in a building of seven floors
but not necessarily in the same order.The ground floor
is numbered |, the floor above it is numbered 2 and so
on, and the topmost floor is numbered 7. M does not
live on even numbered floors and | does not live on
odd numbered floors. More than two people live above
the floor of . The number of floors between | and M is
the same as the between | and K. G lives on the fifth
floor.The floor of K is above the floor of G. ] lives on an
odd numbered floor and L lives above the floor of H.
How many floors above the floor of H?

0l.0One
02.Two
03.Three
04. Four
05. Five



@ MISSION IBPS CLERK-2023 (TARGET BATCH)

Five people L, G, B, D and U are going on tour on
different days of the week from Monday to Friday. Each
of them is carrying different items viz. Bottle, Basket,
Cap, Cake and Fruits but not necessarily in the same
order. B is going on Friday and is carrying Cap with
him. L is not going on Monday but is carrying Cake. U
goes either on Wednesday or on Tuesday.The one who
is going on Wednesday is carrymg bottle.The one who
has basket |s gomg o Tuesday Gis carrylng Fruits.
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Five people L, G, B, D and U are going on tour on
different days of the week from Monday to Friday. Each
of them is carrying different items viz. Bottle, Basket,
Cap, Cake and Fruits but not necessarily in the same
order. B is going on Friday and is carrying Cap with
him. L is not going on Monday but is carrying Cake. U
goes either on Wednesday or on Tuesday.The one who
is going on Wednesday is carrying bottle.The one who
has basket is going on Tuesday. G is carrying Fruits.
Who is carrying a Bottle?

01.U
02.G
03.B
04.L
05. Cannot be



MISSION IBPS CLERK-2023 (TARGET BATCH)

Five people L, G, B, D and U are going on tour on
different days of the week from Monday to Friday. Each
of them is carrying different items viz. Bottle, Basket,
Cap, Cake and Fruits but not necessarily in the same
order. B is going on Friday and is carrying Cap with
him. L is not going on Monday but is carrying Cake. U
goes either on Wednesday or on Tuesday.The one who
is going on Wednesday is carrying bottle.The one who
has basket is going on Tuesday. G is carrying Fruits.

If U is going on Wednesday then D is carrying which
item?

0l. Basket
02.Cap

03. Bottle

04. Fruits

05. None of these



MISSION IBPS CLERK-2023 (TARGET BATCH)

Five people L, G, B, D and U are going on tour on
different days of the week from Monday to Friday. Each
of them is carrying different items viz. Bottle, Basket,
Cap, Cake and Fruits but not necessarily in the same
order. B is going on Friday and is carrying Cap with
him. L is not going on Monday but is carrying Cake. U
goes either on Wednesday or on Tuesday.The one who
is going on Wednesday is carrying bottle.The one who
has basket is going on Tuesday. G is carrying Fruits.
Which combination is correct?

0l.D -=Thursday
02. G —Tuesday
03.L —Thursday
04. B - Monday
05. U —Tuesday



MISSION IBPS CLERK-2023 (TARGET BATCH)

Five people L, G, B, D and U are going on tour on
different days of the week from Monday to Friday. Each
of them is carrying different items viz. Bottle, Basket,
Cap, Cake and Fruits but not necessarily in the same
order. B is going on Friday and is carrying Cap with
him. L is not going on Monday but is carrying Cake. U
goes either on Wednesday or on Tuesday.The one who
is going on Wednesday is carrying bottle.The one who
has basket is going on Tuesday. G is carrying Fruits.

On which day the item fruits are carried?

01.Tuesday

02. Monday
03.Thursday
04. Friday
05.Wednesday



MISSION IBPS CLERK-2023 (TARGET BATCH)

Five people L, G, B, D and U are going on tour on
different days of the week from Monday to Friday. Each
of them is carrying different items viz. Bottle, Basket,
Cap, Cake and Fruits but not necessarily in the same
order. B is going on Friday and is carrying Cap with
him. L is not going on Monday but is carrying Cake. U
goes either on Wednesday or on Tuesday.The one who
is going on Wednesday is carrying bottle.The one who
has basket is going on Tuesday. G is carrying Fruits.
Who is going on Monday?

Ol.L
02.G
03.B
04.D
05.U






